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(a+b) (a*—ab+b)=a*+b,
(a—b) (a®+ab+b*) =a®—b?,
(a+b)*=a®+3a’b+3ab*+ b?,
(a—b)*=a®—3a’b+3ab*— b3,
(a+b+c) (a’*+b*+c*—bc—ca—ab)

=a’+b*+c?—3abe.
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@B—0=(a—b) (@+ab+Db2) +eevvre erirnnn (vi),
a@®+3a’b+3ab* + b= (a+b)® «wooooovieenn (vii),
a®*—3a*b-+3ab—b3= (a-b)3 .................. (viii),

a’+b’+c*—3abc
=(a+b+c) (@*+b*+c*—bec—ca—ab) -+ (ix).
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(B ) R a®+ad—1+3ax B9 [H 82
Ji =2t +a¥+ (—1)3—3wa(—1)

=@+a—1) @2+a?+1+a+r—az).

@ — OO0
SR T 204 K I de—

1. a3+883. 2. 27a3— b3,
3. P4l 4 1-125:
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9. 234+32%43x+1. 10. 1-—3y+3y?—43.

11. 246p%+12p2+8¢3. 1. 27— 27x+922— 48,
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= (a®+ab+0?) (a®—ab+12).
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Datbe=3%a*e, 12ab*c=2%+3 ab*c, Subc?==23+ abd?
H.C.F.=abe,
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